

We have prepared a quote for you UPFIT_MARKED_EVBLAZER_QTY2

Quote # 003927 v1

Prepared for:

Hyattsville City Police Dept

Prepared by:

Mike Cassagne



Lighting - Sirens

Description		Price	Qty	Ext. Price
	EXTERIOR LIGHTBAR			
ENNLB BOB 54" Dual	54"/137cm 9-32 VOLT NFORCE NXT LED LIGHTBAR W/ 15' LIN DSC TECHNOLOGY DUAL R/W B/W FRONT R/A B/A REAR ENNLB018RY-3KH -QSF045801	\$2,713.00	2	\$5,426.00
	SIDEVIEW UNDER MIRROR LIGHTS			
ENT2B3RBW	Sound Off - Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 18 LED, Tricolor - Red/Blue/White	\$205.00	4	\$820.00
VEHICLE- UPFIT- SUPPLIES	CUSTOM UNDER MIRROR MOUNTING BRACKETS FOR UNDER MIRROR LEDS	\$50.00	4	\$200.00
	REAR SIDE BACK CARGO WINDOW LIGHTS			
EMPSCG4STS 5RBW	mpower® 4" 3-Wire HD Light w/ Stud Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	\$150.00	4	\$600.00
PMP2WSSSB	Window Shroud Kit for 4in Light w/ Stud Mount - Black	\$14.00	4	\$56.00
	REAR DECK LIGHTING			
PMP2WSSSB	Window Shroud Kit for 4in Light w/ Stud Mount - Black	\$14.00	4	\$56.00
EMPSCG4STS 5RBW	mpower® 4" 3-Wire HD Light w/ Stud Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	\$150.00	4	\$600.00
	LICENSE PLATE LIGHTS			
EMPSCG2QMS 5RBW	mpower® 4" 3-Wire Light w/ Quick Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White	\$150.00	4	\$600.00
	LIFTGATE LIGHTS - facing back			
EMPSCG1SMS 3J	mpower® 3" 3-Wire Light w/ Screw Mount, for use with mpower Arrow Kit and Connect-n-Go, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Red/Blue	\$120.00	4	\$480.00
EXFS10002-D	XF Flush Mount Light, 10-30 Volts, 9.8" Cable, SAE J595 Class 1, CISPR 25, CA Title 13, ECE R65 & R10 - Dual Color Red/White	\$71.00	4	\$284.00
	LIGHTING CONTROL - SIREN - SPEAKER			

Quote#003927 v1 Page: 2 of 7



Description		Price	Qty	Ext. Price
ENGSA5200RS P	S SO - BLUEPRINT 500 SERIES 200 W REMOTE BTTN SIREN	\$1,043.00	2	\$2,086.00
ETSS100J	Sound Off - 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	\$248.00	4	\$992.00
ENGLMK001	bluePRINT Link® Micro Module and Vehicle Harness for Chevrolet Tahoe 2022-2023	\$389.00	2	\$778.00
ENGSYMD01	Sync Module	\$0.00	2	\$0.00
Howard County Contract No. 4400005214				
		S	ubtotal:	\$12,978.00

Console - Mounts

Description		Price	Qty	Ext. Price
	CONSOLE AND ACCESSORIES			
PKG-VSX-1800 -BLZR-PM-EV- 1	Package – 2024-2025 Chevrolet Blazer EV PPV VSX Console with Front Printer Mount Or Integrated Storage Bin for Laptop Docking Stations	\$1,371.00	2	\$2,742.00
C-EB40-SO5- 1P	1-Piece Equipment Mounting Bracket, 4" Mounting Space, Fits Soundoff Signal 500 Series	\$0.00	2	\$0.00
C-EB25-XTL- 1P	1-Piece Equipment Mounting Bracket, 2.5" Mounting Space, Fits Motorola XTL2500, XTL5000-05, APX-7500,	\$0.00	2	\$0.00
	ETIX EQUIPMENT			
LB3692	Brother Auto Adapter - 12 V DC Input	\$26.00	2	\$52.00
27402	C2G 11in 4-Port USB 2.0 Hub Cable - Gray	\$20.00	2	\$40.00
3320G-LTC- ETIX	3320G Vuquest 2D Barcode Imaging Kit for Maryland E-TIX. IncludesScanner and 9.5' Straight USB Interface Cable	\$364.00	2	\$728.00
PJ823	Brother PocketJet 8 PJ-823 Mobile Direct Thermal Printer - Monochrome - Label Print - USB - USB Host - 3 in/s Mono - 300 x 300 dpi - For Mac, SPARC	\$438.00	2	\$876.00

Quote#003927 v1 Page: 3 of 7



Console - Mounts

Description		Price	Qty	Ext. Price
LBX110001	Brother USB/USB-C Data Transfer Cable - 10 ft USB/USB-C Data Transfer Cable - First End: USB Type A - Second End: USB Type C	\$25.00	2	\$50.00
		S	ubtotal:	\$4,488.00

Transport Systems

Description		Price	Qty	Ext. Price
	PARTITION			
PK1126BLE24	#10XL C Horizontal Sliding WindowCoated PolycarbonateWith Expanded Metal Window Security ScreenXL Panel Partition TM (Tall Man)	\$881.00	2	\$1,762.00
PK0316BLE242 ND	12VS Rear Partition (Polycarbonate Only) - Chevy Blazer	\$511.00	2	\$1,022.00
QK1576BLE24	Full REPLACEMENT Transport SeatTPO PlasticWith Center Pull Seat Belts	\$1,023.00	2	\$2,046.00
WK0514BLE24	WINDOW BARRIER VS STEEL VERTICAL	\$259.00	2	\$518.00
DK0598BLE24	Door Panel VS Aluminum Barrier - Chevy Blazer	\$186.00	2	\$372.00
	CARGO TRAY AND DUAL DRAWER RADIO & GUNVAULT			
TPA9289	Cargo Radio Tray - Chevy Blazer	\$317.00	2	\$634.00
TK0661BLE24	Easy-Lift Cargo Deck System - Chevy Blazer	\$341.00	2	\$682.00
TK0126BLE24	Single Sliding Drawer Key Lock - Chevy Blazer	\$1,480.00	2	\$2,960.00
		S	ubtotal:	\$9,996.00

GUNMOUNT & LIGHTED BUMPER

Description		Price	Qty	Ext. Price
	LIGHTED PUSH BUMPER			
BK2168BLE24	PB450L4With SOUNDOFF SIGNAL MPOWER TRI-COLOR 18- LED	\$869.00	2	\$1,738.00
	GUN IOCK TO MOUNT IN THE REAR VAULT DRAWER			
LOFT-MBKTA	Replacement Std. GV Muzzle Bracket Assembly	\$35.00	2	\$70.00

Quote#003927 v1 Page: 4 of 7



GUNMOUNT & LIGHTED BUMPER

Description		Price	Qty	Ext. Price
LOFT- STDLOCK-M4	Standard Trap Door Lock for M4 recoil buffer tube w/ Mt. hardware & bracket	\$154.00	2	\$308.00
LOFT- LOCKTIMER	10 Second Gun Lock Timer	\$49.00	2	\$98.00
		S	ubtotal:	\$2,214.00

Antennas - Radios

Description		Price	Qty	Ext. Price			
CUSTOME	CUSTOMER PROVIDED ARBITRATOR CAMERA SYSTEM						
WV-VC31 F	WV-VC31 Prisoner Cage Camera						
WV-VC35 F	Forward Facing Camera						
VPU-4000 F	Recorders						
ToughBook	Arbitrator Mobile Digital Video Systems ARB-M24	MIC					
IPS-ICV4-ACC	I-PRO ACC KIT FOR VPU4000, 256GB SSD, POWER DIST BOX, BATTERY BKUP, 25 ETHERNET	\$634.00	2	\$1,268.00			
IPS-ICV4- 256SSD	256GB RUGGED SSD FOR VPU4000 W/PULL TAB, W/AES ENCRYPTION	\$135.00	2	\$270.00			
	BODY WORN CAMERA AND VEHICLE EQUIP						
WV- BWC40D1A	Panasonic Cradle - Docking - Wearable Camera - Charging Capability	\$215.00	2	\$430.00			
IPS-BWC4-12V -WIRE	BWC4000 12V VEHICLE HARNESS FOR WV-BWC40D1A OR WV-BWC40C1A	\$29.00	2	\$58.00			
IPS-ICV- ETH25GRN	i-PRO Ethernet Rj45 Shielded Cable, 25Ft, Green - 25 ft RJ-45 Network Cable for Network Device - Shielding	\$19.00	2	\$38.00			
CUSTOMER PROVIDED RADIO, APX-7500 TO INCLUE BRICK, FACEPLATE							
H1853D	Motorola 05 DM to 05 RM Retrofit Kit	\$390.00	2	\$780.00			
VEHICLE- UPFIT- SUPPLIES	HKN4192C Mobile Mid Power Cbl 10AWG 20 Amp	\$55.00	2	\$110.00			

Quote#003927 v1 Page: 5 of 7



Antennas - Radios

Description		Price	Qty	Ext. Price
VEHICLE- UPFIT- SUPPLIES	APX 7500 CONVERSION Labor	\$365.00	2	\$730.00
TSH-HAYAT- 001	Custom Kit TSH-HAYAT-001 Sharkee antenna Kit will connect:1X 7/800 radio moto4X arbitrator wifi1X arbitrator gps	\$444.00	2	\$888.00
NNTN7624C	APX6,7000 Portable Radio DC Vehicular Charger	\$520.00	2	\$1,040.00
		S	ubtotal:	\$5,612.00

Misc Additions

Description		Price	Qty	Ext. Price
	RADAR SYSTEM			
VEHICLE- UPFIT- SUPPLIES	3003 Eagle 3 Dual Ka-band antenna with Same Direction, Fastest, Scan mode, Wireless SpeedSensing, QuikTrak, and eFork	\$3,731.00	2	\$7,462.00
Vehicle-Upfit- Decal	Decal - Graphics Installation - Labor Only	\$1,530.00	2	\$3,060.00
		S	ubtotal:	\$10,522.00

Installation

Description		Price	Qty	Ext. Price
Vehicle-Upfit- Marked	Complete Upfit - Marked Patrol Car - Labor Only	\$6,050.00	2	\$12,100.00
VEHICLE- UPFIT- SUPPLIES	Misc. Material to include connectors, wire, and hardware, fuse block, relays, and all needed install supplies	\$450.00	2	\$900.00
		S	ubtotal:	\$13,000.00

Quote#003927 v1 Page: 6 of 7



UPFIT_MARKED_EVBLAZER_QTY2



Prepared by: Frontline Mobile Tech Mike Cassagne 240-280-8964 Fax 2403604538 mcassagne@frontlinemobiletech.c

Prepared for:

Hyattsville City Police Dept 4310 Gallatin St Hyattsville, MD 20781 Troy Bradley (240) 696-4129 TBradley@hyattsville.org

Quote Information:

Quote #: 003927

Version: 1

Delivery Date: 11/13/2024 Expiration Date: 11/17/2024

Quote Summary

om

Description	Amount
Lighting - Sirens	\$12,978.00
Console - Mounts	\$4,488.00
Transport Systems	\$9,996.00
GUNMOUNT & LIGHTED BUMPER	\$2,214.00
Antennas - Radios	\$5,612.00
Misc Additions	\$10,522.00
Installation	\$13,000.00
Subtotal:	\$58,810.00
Shipping:	\$2,050.00
Total:	\$60,860.00

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

ட	$r \sim r$. + 1	ine	n/	\sim	hı	\sim	lech	
			II IC	w	1()			1 (-) (:1 1	

Hyattsville City Police Dept

Signature:	Michellinger	Signature:			
Name:	Mike Cassagne	Name:	Troy Bradley		
Γitle:	Sales Manager	Date:			
Date:	11/13/2024				

Quote#003927 v1 Page: 7 of 7